D6 FEALEEREER TR (SR7F | AKRBRE)
BEBED (BAL: £, FF)
LRoFELMTHE (A BRI (B) #Mi7%% (C) = (A) - (B) WiTE (0) = B) ~ (A
FENX 2 HBH B BXEE HBH X 5 #BH X EE - #BH X EE 5
k=0 206 186,679 111 98,182 95 88,497 53.9% 52.6%
L5 FEREIZSEIBS (BAL: . FH)
LRhoFELMTE (A) BEFRR (B) #MiT7% (C) = (A) - (B) wiTE (0) = B) + (A
k=00 23 20,641 0 0 23 20,641 0.0% 0.0%
e 8 1,518 2 373 6 1,145 25.0% 24.6%
NEREBY 5 979 0 0 5 979 0.0% 0.0%
EE (FE) #Bh 23 5,730 2 468 21 5,262 8.7% 8.2%
& &t 59 28,868 4 841 55 28,027 6.8% 2.9%




